## Far East Journal of Mathematical Sciences (FJMS)



Volume 42, Number 1, 2010, Pages 65-75 Published Online: September 8, 2010

This paper is available online at http://pphmj.com/journals/fjms.htm

© 2010 Pushpa Publishing House

# HAUSDORFF DIMENSION OF THE RECURRENCE SET OF LÜROTH TRANSFORMATION

### SIKUI WANG and LAN ZHANG

School of Mathematics and Statistics Huazhong University of Science and Technology Wuhan 430074, P. R. China

e-mail: sikuiwang1980@gmail.com

College of Electrical and Computer Engineering University of Michigan-Dearborn, U. S. A. e-mail: hailan2004@gmail.com

#### **Abstract**

Let  $x_0 \in [0, 1)$  be an irrational number with Lüroth series expansion  $x_0 = [i_1, i_2, ...]$  and  $t_n$  be a nondecreasing sequence of natural numbers. Define the recurrence set of Lüroth transformation T as follows:

$$E(x_0) = \{x \in [0, 1) : T^n(x) \in I_{t_n}(x_0) \text{ for infinitely many } n\},\$$

where  $I_{t_n}(x_0)$  denotes  $t_n$  th order cylinder of  $x_0$ . In this paper, the Hausdorff dimension of the set  $E(x_0)$  is determined.

# 1. Introduction

For  $x \in (0, 1]$ , notice that there is a unique  $a_1(x) \in \mathbb{N}$  such that

$$\frac{1}{a_1(x)} < x \le \frac{1}{a_1(x) - 1}. (1.1)$$

2010 Mathematics Subject Classification: 11K55, 11K16, 28A80.

Keywords and phrases: Lüroth series expansion, recurrence set, Hausdorff dimension.

This project is supported by NSFC 10631040.

Received February 4, 2010

Indeed,  $a_1(x) = [1/x] + 1$ , where  $[\cdot]$  denotes the integer part. Define  $T: (0, 1] \rightarrow (0, 1]$  by

$$T(x) := a_1(x)(a_1(x) - 1)\left(x - \frac{1}{a_1(x)}\right).$$

Now, we introduce the sequence  $(a_k)_{k\in\mathbb{N}}$ , where

$$a_k(x) = a_1(T^{k-1}(x)),$$
 (1.2)

where  $T^k$  denotes the kth iterate of T ( $T^0 = Id_{(0,1]}$ ). From (1.1) and (1.2), we notice that any  $x \in (0, 1]$  can be developed uniquely into infinite series expansion of the form

$$x = \frac{1}{a_1} + \frac{1}{a_1(a_1 - 1)a_2} + \dots + \frac{1}{a_1(a_1 - 1)a_2 \cdots a_{n-1}(a_{n-1} - 1)a_n} + \dots$$
 (1.3)

This series expansion, called *Lüroth expansion*, was introduced in 1883 by Lüroth [8]. We may denote the Lüroth series expansion of  $x \in (0, 1]$  by  $x = [a_1(x), a_2(x), ...]$  for simplicity.

The behavior of the sequence  $a_n(x)$  is of interest and the metric and ergodic properties of the sequence  $\{a_n(x), n \ge 1\}$  and T have been investigated by a number of authors (see [1, 2, 3, 6, 7, 9]).

In [5], Fernández and Melián have considered the quantitative recurrence properties in continued fraction dynamical system. In this paper, we consider the analogous problem for the Lüroth series expansion. We determine the Hausdorff dimensions of  $E(x_0)$ .

**Theorem 1.1.** Let 
$$\liminf_{n\to\infty}\frac{\log i_1(i_1-1)\cdots i_{t_n}(i_{t_n}-1)}{n}=\log B$$
, if  $1< B<+\infty$ . Then

$$\dim_H E(x_0) = s(B).$$

### 2. Preliminaries

In this section, we collect some known facts and establish some elementary properties of Lüroth series that will be used later [3, 6].

**Lemma 2.1** [6]. The series in (1.2) is a Lüroth expansion of some  $x \in (0, 1]$  if and only if  $a_n \ge 2$ , for all  $n \ge 1$ .

For any  $a_1, a_2, ..., a_n \in \mathbb{N}$ , we call  $I_n(a_1, ..., a_n) = \{x \in [0, 1) : a_k(x) = a_k, 1 \le k \le n\}$  an nth order cylinder.

**Lemma 2.2** [6]. The length of  $I_n(a_1, ..., a_n)$  is equal to

$$|I_n(a_1, ..., a_n)| = \frac{1}{a_1(a_1 - 1) \cdots a_n(a_n - 1)},$$
 (2.1)

where  $|\cdot|$  denotes the Euclidean length.

**Lemma 2.3.** Let s(B) be the unique solution of

$$f_B(s) := \sum_{k=2}^{\infty} \left(\frac{1}{Bk(k-1)}\right)^s = 1.$$
 (2.2)

Then s(B) is continuous with respect to B. Furthermore,  $\lim_{B\to 1} s(B) = 1$ ,  $\lim_{B\to \infty} s(B) = 1/2$ .

**Proof.** (i) Fix B > 0. For any  $\varepsilon > 0$ , when  $1 < B < B' < B + \varepsilon$ ,

$$\sum_{k=2}^{\infty} \left( \frac{1}{Bk(k-1)} \right)^{s(B')+\varepsilon} \le \frac{1}{B^{\varepsilon}} \sum_{k=2}^{\infty} \left( \frac{1}{Bk(k-1)} \right)^{s(B')}$$
$$= \frac{1}{B^{\varepsilon}} \left( \frac{B'}{B} \right)^{s(B')} \le \frac{B'}{B^{1+\varepsilon}} < 1.$$

Notice that  $s(\cdot)$  is monotonic decreasing with respect to B. We have s(B') < s(B)  $< s(B') + \varepsilon$ .

(ii) We prove that  $\lim_{B \to 1} s(B) = 1$  only, the second limits can be proved by the similar method. It is easy to see that  $s(B) \le 1$  for any B > 1. On the other hand, fix  $\varepsilon > 0$ , take  $B_0 = 2^{\varepsilon}$ , for all  $1 < B < B_0$ , we have  $s(B) > 1 - \varepsilon$ , since

$$\sum_{k=2}^{\infty} \left( \frac{1}{Bk(k-1)} \right)^{1-\varepsilon} \ge 2^{\varepsilon} \sum_{k=2}^{\infty} \frac{1}{Bk(k-1)} > 1.$$

## 3. Proof of Main Results

Before proving Theorem 1.1, we state the mass distribution principle at first (see [4]), which will be applied to obtain the lower bound of  $\dim_H E(x_0)$ .

**Lemma 3.1** [4]. Let E be a Borel set in [0, 1] and  $\mu$  be a measure with  $\mu(E) > 0$ . If for any  $x \in E$ ,

$$\liminf_{r\to 0} \frac{\log \mu(B(x, r))}{\log r} \ge s,$$

where B(x, r) denotes the open ball with center x and radius r, then  $\dim_H E \ge s$ .

**Proof of Theorem 1.1.** First, we give an upper bound of  $\dim_H E(x_0)$ .

Notice that

$$\begin{split} E(x_0) &= \{x \in [0,1): T^n(x) \in I_{t_n}(x_0) \text{ for infinitely many } n \} \\ &= \limsup_{n \to 0} \{x \in [0,1): T^n(x) \in I_{t_n}(x_0) \} \\ &= \bigcap_{N=1}^{\infty} \bigcup_{n \geq N} \{x \in [0,1): T^n(x) \in I_{t_n}(x_0) \} \\ &= \bigcap_{N=1}^{\infty} \bigcup_{n \geq N} \bigcup_{a_1, \dots, a_n} \{x \in [0,1): a_k(x) = a_k \in \mathbb{N}, \\ &1 \leq k \leq n; \ a_{n+j}(x) = i_j, 1 \leq j \leq n \}. \end{split}$$

For any  $\varepsilon > 0$  and  $\tau > 0$ , when n is large enough, we have  $i_1(i_1 - 1) \cdots i_{t_n}(i_{t_n} - 1) > (B - \varepsilon)^n$ . So

$$\begin{split} &\mathbf{H}^{s(B-\varepsilon)+\tau}(E(x_{0})) \\ &\leq \liminf_{N \to \infty} \sum_{n \geq N} \sum_{a_{1}, \dots, a_{n}} |I_{n+t_{n}}(a_{1}, \dots, a_{n}, i_{1}, i_{2}, \dots, i_{t_{n}})|^{s(B-\varepsilon)+\tau} \\ &\leq \liminf_{N \to \infty} \sum_{n \geq N} \sum_{a_{1}, \dots, a_{n}} \left( \frac{1}{(B-\varepsilon)^{n} a_{1}(a_{1}-1) \cdots a_{n}(a_{n}-1)} \right)^{s(B-\varepsilon)+\tau} \end{split}$$

$$\leq \liminf_{N \to \infty} \sum_{n \geq N} \frac{1}{(2^n)^{\tau}} \sum_{a_1, \dots, a_n} \left( \frac{1}{(B - \varepsilon)^n a_1 (a_1 - 1) \cdots a_n (a_n - 1)} \right)^{s(B - \varepsilon)}$$

$$= \liminf_{N \to \infty} \sum_{n \geq N} \frac{1}{(2^n)^{\tau}} = 0.$$

So  $\dim_H E(x_0) \le s(B-\varepsilon) + \tau$ . Since  $\tau > 0$  and  $\varepsilon > 0$  are arbitrary, from Lemma 2.3, we have  $\dim_H E(x_0) \le s(B)$ .

Now, we give a lower bound of  $\dim_H E(x_0)$ .

In this paper, we shall use  $\Gamma$  to denote the set  $\{n_k, n_k + 1, n_k + 2, ..., n_k + t_{n_k} - 1, k \ge 1\}$  for convenience.

**Step I.** In this part, we will construct a subset  $E_{\alpha}(x_0) \subset E(x_0)$ .

Fix 
$$\alpha \in \mathbb{N} \setminus \{1\}$$
 and a sequence  $\{n_k\} \subset \mathbb{N}$  satisfying  $\lim_{k \to \infty} \frac{\log i_1(i_1-1)\cdots i_{t_{n_k}}(i_{t_{n_k}}-1)}{n_k}$ 

 $= \log B$  and

$$n_1 + \dots + n_k + t_{n_k} < \frac{1}{k+1} n_{k+1}, \quad \forall k \ge 1.$$
 (3.1)

We may assume that

$$(B-\varepsilon)^{n_k} \leq i_1(i_1-1)\cdots i_{t_{n_k}}\left(i_{t_{n_k}}-1\right) \leq \left(B+\varepsilon\right)^{n_k}, \quad \forall k \geq 1.$$

Let

$$\begin{split} E_{\alpha}(x_0) &= \{x \in [0,1): x = [\sigma_1,\,\sigma_2,\,...,\,\sigma_n,\,...],\,\sigma_{n_k+j} = i_j,\,k \geq 1,\,1 \leq j \leq t_{n_k}; \\ &1 \leq \sigma_i \leq \alpha,\,j \notin \{n_k+1,\,n_k+2,\,...,\,n_k+t_{n_k},\,k \geq 1\}\}. \end{split}$$

It is easy to see that  $E_{\alpha}(x_0) \subseteq E(x_0)$ . Let  $s_{\alpha}(B)$  be the solution of  $\sum_{k=0}^{\alpha} \left(\frac{1}{Bk(k-1)}\right)^s = 1$ . Then we will prove that  $\dim_H E_{\alpha}(x_0) \ge s_{\alpha}(B)$ .

For any  $n \ge 1$ , define

$$D_n=\{(\sigma_1,\,...,\,\sigma_n)\in\mathbb{N}^n:E_\alpha(x_0)\cap I_n(\sigma_1,\,...,\,\sigma_n)\neq\varnothing\};$$

$$D = \bigcup_{n=0}^{\infty} D_n, \quad (D_0 := \emptyset).$$

For any  $n \ge 1$  and  $(\sigma_1, ..., \sigma_n) \in D_n$ , we call

$$J(\sigma_1, ..., \sigma_n) := \bigcup_{\sigma_{n+1}} clI_{n+1}(\sigma_1, ..., \sigma_{n+1})$$
(3.2)

a basic interval of order n with respect to  $E_{\alpha}(x_0)$ , where the union in (3.2) is taken over all  $\sigma_{n+1}$  such that  $(\sigma_1, ..., \sigma_n, \sigma_{n+1}) \in D_{n+1}$  and cl stands for the closure. Then it follows

$$E_{\alpha}(x_0) = \bigcap_{n \ge 1} \bigcup_{(\sigma_1, \dots, \sigma_n) \in D_n} J(\sigma_1, \dots, \sigma_n).$$
(3.3)

From Lemma 2.2, if  $n \notin \Gamma$ , then we have

$$|J(\sigma_1, ..., \sigma_n)| = \frac{1}{a_1(a_1 - 1) \cdots a_n(a_n - 1)} \left(1 - \frac{1}{\alpha}\right).$$
 (3.4)

**Step II.** For the lower bound, we define a probability measure supported on  $E_{\alpha}(x_0)$ .

Let  $m_k = n_k - n_{k-1} - t_{n_{k-1}}$  with  $k \ge 1$  and  $n_0 = t_{n_0} \coloneqq 0$ . Now, we define a set function  $\mu: \{J(\sigma), \sigma \in D \setminus D_0\} \to \mathbb{R}^+$  given as follows. In this paper, we always use  $q_{m_j}$  to denote

$$a_{n_{j-1}+t_{n_{j-1}}+1}(a_{n_{j-1}+t_{n_{j-1}}+1}-1)\cdots a_{n_{j}}(a_{n_{j}}-1), \quad j \in \mathbb{N}.$$

For any  $n \ge 1$  and  $(\sigma_1, ..., \sigma_n) \in D_n$ , let

$$\mu(J(\sigma_1, ..., \sigma_n))$$

$$:= \begin{cases} \prod_{j=1}^{k} \left( \frac{1}{q_{m_{j}} (B+\varepsilon)^{m_{j}}} \right)^{s_{\alpha}(B+\varepsilon)}, & \text{if } n \in \{n_{k}, n_{k}+1, n_{k}+2, ..., n_{k}+t_{n_{k}}, k \geq 1\}, \\ \sum_{2 \leq \sigma_{n+1}, ..., \sigma_{n_{k}} \leq \alpha} \mu(J(\alpha_{1}, ..., \sigma_{n_{k}})), & \text{if } n_{k-1}+t_{n_{k-1}} < n < n_{k}, \text{ for some } k \geq 1. \end{cases}$$

(3.5)

Until now, the set function  $\mu: \{J(\sigma), \sigma \in D \setminus D_0\} \to \mathbb{R}^+$  is well defined. It is easy to check that for any  $n \ge 1$  and  $(\sigma_1, ..., \sigma_n) \in D_n$ , we have

$$\mu(J(\sigma_1, ..., \sigma_n)) = \sum_{\sigma_{n+1}} \mu(J(\sigma_1, ..., \sigma_{n+1})),$$

where the summation is taken over all  $\sigma_{n+1}$  such that  $(\sigma_1, ..., \sigma_n, \sigma_{n+1}) \in D_{n+1}$ . Notice that

$$\sum_{(\sigma_1, ..., \sigma_{n_1}) \in D_{n_1}} \mu(J(\sigma_1, ..., \sigma_{n_1})) = 1,$$

by Kolmogorov extension theorem, the set function  $\mu$  can be extended into a probability measure supported on  $E_{\alpha}(x_0)$ , which is still denoted by  $\mu$ .

**Step III.** We now give the estimation of  $\mu(J(\sigma_1, ..., \sigma_n))$  for each  $(\sigma_1, ..., \sigma_n) \in D_n$ .

Fix  $0 < t < s_{\alpha}(B + \varepsilon)$ , take  $\tau = \frac{s_{\alpha}(B + \varepsilon) - t}{2}$ . We claim that there is an integer N such that  $n \ge N$  and  $(\sigma_1, ..., \sigma_n) \in D_n$  implies

$$\mu(J(\sigma_1, ..., \sigma_n)) \le c \cdot |J(\sigma_1, ..., \sigma_n)|^{t-2\tau},$$
(3.6)

where c > 0 is an absolute constant.

We will distinguish two cases to establish this. Choose  $k_0$  sufficiently large such that

$$\frac{t}{t+\tau} \le \frac{m_k}{n_k}, \quad 1 - \frac{1}{\alpha} \le 2^{n_k \tau}, \quad \forall k > k_0.$$
 (3.7)

Take  $c_0 = \alpha^{2n_{k_0}} (B + \varepsilon)^{(n_1 + \dots + n_{k_0})}$ . Then we have

$$\prod_{j=1}^{k_0} \left( \frac{1}{q_{m_j} (B + \varepsilon)^{m_j}} \right)^{s_{m_j, (B + \varepsilon)}(\alpha)} \le 1 \le c_0 \prod_{j=1}^{k_0} \left( \frac{1}{q_{m_j} (B + \varepsilon)^{n_j}} \right)^t. \tag{3.8}$$

For any  $n > n_{k_0}$  and  $(\sigma_1, ..., \sigma_n) \in D_n$ , we estimate  $\mu(J(\sigma_1, ..., \sigma_n))$ .

**Case I.** 
$$n \in \{n_k, n_k + 1, n_k + 2, ..., n_k + t_{n_k}\}$$
 for some  $k \ge k_0$ ,

$$\mu(J(\sigma_1, ..., \sigma_n))$$

$$= \prod_{j=1}^{k} \left( \frac{1}{q_{m_j} (B + \varepsilon)^{m_j}} \right)^{s_{\alpha} (B + \varepsilon)}$$
 (by (3.5))

$$= \prod_{j=1}^{k_0} \left( \frac{1}{q_{m_j} (B+\varepsilon)^{m_j}} \right)^{s_{\alpha}(B+\varepsilon)} \cdot \prod_{j=k_0+1}^{k} \left( \frac{1}{q_{m_j} (B+\varepsilon)^{m_j}} \right)^{s_{\alpha}(B+\varepsilon)}$$

$$\leq c_0 \prod_{j=1}^{k_0} \left( \frac{1}{q_{m_j} (B + \varepsilon)^{n_j}} \right)^t \cdot \prod_{j=k_0+1}^k \left( \frac{1}{q_{m_j} (B + \varepsilon)^{m_j}} \right)^{t+\tau} \quad \text{(by (3.8))}$$

$$\leq c_0 \prod_{j=1}^{k_0} \left( \frac{1}{q_{m_j} (B + \varepsilon)^{n_j}} \right)^t \cdot \prod_{j=k_0+1}^k \left( \frac{1}{q_{m_j}} \right)^t \cdot \prod_{j=k_0+1}^k \left( \frac{1}{(B + \varepsilon)^{n_j}} \right)^t \quad \text{(by (3.7))}$$

$$= c_0 \prod_{j=1}^{k} \left( \frac{1}{q_{m_j} (B + \varepsilon)^{n_j}} \right)^t \le c_0 |J(\sigma_1, ..., \sigma_{n_k + t_{n_k}})|^{t-\tau} \quad \text{(by (3.4) and (3.7))}$$

$$\leq c_0 |J(\sigma_1, ..., \sigma_n)|^{t-\tau},$$
(3.9)

where 
$$q_{n_k} = \sigma_1(\sigma_1 - 1) \cdots \sigma_{n_k}(\sigma_{n_k} - 1)$$
.

**Case II.**  $n_{k-1} + t_{n_{k-1}} < n < n_k$  for some  $k \ge k_0$ .

Let  $\ell' = n_k - n$ . By the definition of  $\mu$ , similar to the proof of (3.9), we have

$$\mu(J(\sigma_1, ..., \sigma_n))$$

$$=\sum_{2\leq\sigma_{n+1},...,\,\sigma_{n_k}\leq\alpha}\mu(J(\sigma_1,\,...,\,\sigma_n,\,\sigma_{n+1},\,...,\,\sigma_{n_k}\,))$$

$$=\prod_{j=1}^{k-1} \left(\frac{1}{q_{m_j}(B+\varepsilon)^{m_j}}\right)^{s_{\alpha}(B+\varepsilon)} \sum_{2 \leq \sigma_{n+1}, \dots, \sigma_{n_k} \leq \alpha} \left(\frac{1}{q_{m_k}(B+\varepsilon)^{m_k}}\right)^{s_{\alpha}(B+\varepsilon)}$$

$$\leq \frac{c_0}{(a_1(a_1-1)\cdots a_n(a_n-1))^{t-\tau}} \sum_{2\leq a_1,\dots,a_{\ell'}\leq \alpha} \left(\frac{1}{(B+\varepsilon)^{\ell'}q_{\ell'}}\right)^{s_\alpha(B+\varepsilon)} \\
= \frac{c_0}{(a_1(a_1-1)\cdots a_n(a_n-1))^{t-\tau}} \left(\sum_{k=2}^{\alpha} \left(\frac{1}{(B+\varepsilon)q_{\ell'}}\right)^{s_\alpha(B+\varepsilon)}\right)^{\ell'} \\
= \frac{c_0}{(a_1(a_1-1)\cdots a_n(a_n-1))^{t-\tau}} \\
\leq c_0 |J(\sigma_1,\dots,\sigma_n)|^{t-2\tau} \quad \text{(by (3.4) and (3.7))},$$
(3.10)

where  $q_{\ell'} = \sigma_1(\sigma_1 - 1) \cdots \sigma_{\ell'}(\sigma_{\ell'} - 1)$ .

**Step IV.** In this part, we will estimate the measure of B(x, r).

For any  $x \in E_{\alpha}(x_0)$ , there exists an infinite sequence  $\{\sigma_1, \sigma_2, ...\}$  with  $\sigma_{n_k+j} = i_j, \ k \ge 1, \ 1 \le j \le t_{n_k}; \ 1 \le \sigma_j \le \alpha, \ j \notin \{n_k+1, n_k+2, ..., n_k+t_{n_k}, k \ge 1\}$  such that  $x \in J(\sigma_1, ..., \sigma_n)$ , for all  $n \ge 1$ . Let  $r_0 = \min_{\sigma \in D_{n_{k_0}}} |J(\sigma)|$ . Then, for any 0 < r

 $< r_0$ , there exists an integer  $n \ge n_{k_0}$  such that

$$|J(\sigma_1, ..., \sigma_n, \sigma_{n+1})| \le r < |J(\sigma_1, ..., \sigma_n)|.$$
 (3.11)

Now, we distinguish two cases to estimate the measure of B(x, r).

Case I.  $n \in \Gamma$ , i.e.,  $n_k \le n < n_k + t_{n_k}$ , for some  $k \ge 1$ .

In this case, the ball B(x, r) can intersect only one basic interval of order n, which is just  $J(\sigma_1, ..., \sigma_n)$  and can intersect at most one basic interval of order n + 1. From the dimension of the measure  $\mu$  and (3.6), we have

$$\mu(B(x, r)) \le \mu(J(\sigma_1, ..., \sigma_n)) = \mu(J(\sigma_1, ..., \sigma_{n+1}))$$

$$\le c_0 |J(\sigma_1, ..., \sigma_{n+1})|^{t-2\tau} \le c_0 |r|^{t-2\tau}. \tag{3.12}$$

Case II.  $n \notin \Gamma$ .

The ball B(x, r) can intersect at most three basic intervals of order n.

By the dimension of the measure  $\mu$ , for any  $\xi \neq \eta \in \{1, 2, ..., \alpha\}$ , we have  $\frac{\mu(J(a_1, ..., a_n, \xi))}{\mu(J(a_1, ..., a_n, \eta))} \leq \alpha^2.$  So

$$\mu(J(\sigma_1, ..., \sigma_n, \sigma_{n+1})) \ge \frac{1}{\alpha^3} \mu(J(\sigma_1, ..., \sigma_n)).$$

From (3.6) and (3.11), we obtain

$$\mu(B(x, r)) \le 3\alpha^5 \mu(J(\sigma_1, ..., \sigma_{n+1}))$$

$$\le 3c_0 \cdot \alpha^5 |J(\sigma_1, ..., \sigma_{n+1})|^{t-2\tau} \le 3c_0 \alpha^5 \cdot r^{t-2\tau}. \tag{3.13}$$

Combining these two cases with Lemma 3.1, we can get

$$\dim_H E_{\alpha}(x_0) \ge t - 2\tau = 2t - s_{\alpha}(B + \varepsilon).$$

Since  $t < s_{\alpha}(B + \varepsilon)$  is arbitrary, we have

$$\dim_H E(x_0) \ge \dim_H E_{\alpha}(x_0) \ge s_{\alpha}(B + \varepsilon).$$

Notice that  $\lim_{\alpha \to \infty} s_{\alpha}(B + \varepsilon) = s(B + \varepsilon)$  and Lemma 2.3, Theorem 1.1 is proved.

# Acknowledgement

The author thanks Professor Jun Wu for the valuable suggestions.

## References

- [1] J. Barrionuevo, R. M. Burton, K. Dajani and C. Kraaikamp, Ergodic properties of generalized Lüroth series, Acta Arith. 74(4) (1996), 311-327.
- [2] K. Dajani and C. Kraaikamp, On approximation by Lüroth series, J. Théor. Nombres Bordeaux 8(2) (1996), 331-346.
- [3] K. Dajani and C. Kraaikamp, Ergodic Theory of Numbers, Carus Mathematical Monographs, Vol. 29, Math. Assoc. Amer., Washington, DC, 2002.
- [4] K. Falconer, Fractal Geometry, Mathematical Foundations and Applications, Wiley, Chichester, 1990.
- [5] J. L. Fernández and M. V. Melián, Quantitative recurrence properties of expanding maps, Arxiv Preprint Math.DS/0703222, 2007.

- [6] J. Galambos, Representations of real numbers by infinite series, Lecture Notes in Mathematics, 502, Springer-Verlag, Berlin, New York, 1976.
- [7] H. Jager and C. de Vroedt, Lüroth series and their ergodic properties, Nederl. Akad. Wetensch. Proc. Ser. A 72(31) (1969), 31-42.
- [8] J. Lüroth, Ueber eine eindeutige Entwickelung von Zahlen in eine unendliche Reihe, Math. Ann. 21(3) (1883), 411-423.
- [9] L.-M. Shen and J. Wu, On the error-sum function of Lüroth series, J. Math. Anal. Appl. 329(2) (2007), 1440-1445.